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Full Marks : 80
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The figures in the margin indicate full marks
for the questions

1. Answer any ten from the following as
directed : 1x10=10

wore fRICARA A el webr et ieEd Ted fam

(@) Mention one assumption of Harrod-
Domar growth model.

R'S-UNR e wfRa @b SfeqRe %cm
90|

(b) Name one neo-classical growth model.

F-1FIe Rt e GO 9 &34 1
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(2)

(cf What is meant by technological
progress?

erfeer Bafe Mo & oM 2

(d) Define average propensity to consume.
5TT (OI8O 5T 7 |

(e} Who introduced the life-cycle
hypothesis?
BIH -5 ST (10 VeTed I 2

() Mention one assumption of permanent
income hypothesis.
T AW S <O SR Seay 39 |

(g) Rational expectation model is related to
Robert Hall/Friedman.

( Choose the correct answer )

AEHRITS o B! 3915 281/ Brorar o
GfYo |
(o= Toh R Sty )
(h) What is investment?
R &2
() What is liquidity preference?
O S 2
22A/1120

( Continued )

(3)

What is meant by fiscal policy?

0)
R A 3 3o ?
(k) What is Ricardian equivalence?
i STl 6 2
() What is meant by active monetary
policy?
st qa et & e ?

(m) Who are the classicists?
FeFPreRwTee @ P ?

(n) Did Keynes believe in full employment

equilibrium?

@z o Tt ST o et SR ?

Name one new Keynesian economist.

(0)
g T (o LR A o
2. Answer any five from the followigng5 =
: g
questions :

WW&@WWWW:

(@) What is the golden rule?

e o 2
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(b) What is meant by endogenous growth? 3. Answer any four from the following
i [ 3fere & 3w 2 questions : 5x4=20
o 2 R @1 viReR T fir
() Mention two differences between
Harrod-Domar model and Solow model. {a) What are the two effects of investment
GES-SNR W WE vE WEe qeE i‘m according to Harrod-Domar model?
137 T 37 | Explain,
: R'T-TIR Wi PR RiFcwem @ aow &
(d) Why marginal propensity to consume <2 7M1 |
cannot be greater than one?
afee @l R R @Ieie @R ] (b) Explain Keynes’ psychological law of
CAIAIEY ? consumption.
¢) What is random walk of consumption (RS (SIS FTBINGT OGB! 1 1 |
expenditure?
(c) Explain the elements of endogenous
Col9l IR ARSI 2 S
() Mention two monetary policy targets. SES R SAMPIYR 0 41 |
Tl 3 701 7 Srmy 401
(d) What are the limitations of Harrod-
() Mention two differences between Domar model? Explain.
classical and Keynesian thoughts. ET-TIR A2 NaRmernz & &2
RIS WE (20 SRYRR T& 01 ~1%F) A |
e 34 |

(e) Explain the concept of inventory
investment.

Sle REAENR 4™emo I F97 |

(h) Mention two features of classical
macroeconomic thought.

IS FufBfH SRR 71 Cafiey Sras 1 |
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(6)

() Explain the time consistency problem of
monetary policy.

a1 ST F-EPTA SO V7 T4 |

(g) Distinguish between external and
internal government debt.

IRE T T WEQ AT T AL
g <1 | ' i

(h) Explain the main features of new
classical macroeconomic thought.

4 e SRR SRR 18 aRErTIR
A F90

4. Answer any four from the following
questions : 10x4=40

ofd AR i @ mifoE Ses

(a) Critically discuss the Solow model of
economic growth.

Ao 3w 5o WG a1 T2
SCEABAT ¥ |

(b) Discuss Fisher’s theory of optimal inter-
temporal choice.

WWWWWWW
el
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(c)

(d)

(e)

(g)

(h)

22A/1120

(7)

Discuss the Keynesian consumption
function.

(PG (19 FACH! ST F47 |

Critically discuss the life-cycle
hypothesis.

&IT-bG SIFCHl STl FZPCE oA
911

Is permanent income hypothesis an
improvement over life-cycle hypothesis?
Discuss.

A% 2 S 4 |

Discuss the determinants of business
fixed investment.

e 3 Rfvcanm MR R e 41 |

What are the motives of demand for
money according to Keynes? Discuss.

R WO WA SR oA & &2
HICATSAT AT |

Discuss the objectives of monetary
policy.
@l e TTPR ST 7 |
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(8)

(i Discuss the main features of Keynesian
thought.

0 SRR T (IRERTIR S 41 |

() Discuss the key elements of the new
Keynesian fixed price model of macro-
economic equilibrium.

THAEAM SRANOR W (FTpE BR wN
SR T4 SR ST 41 |
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